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Recruitment Assessment Test

TEST TWO

DO NOT TURN OVER THIS PAGE UNTIL YOU ARE TOLD TO DO SO
WHILE YOU WAIT, PLEASE READ THE FOLLOWING IMPORTANT
INFORMATION CARE FULLY

Each question is followed by five options lettered A to E. Shade in pencil (as
shown in the sample below) on your answer sheet , the space which bears the
same letter as the option you have chosen . Give one answer for each question.
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This assessment consists of 50 questions.
You have 45 minutes (Forty five minutes) to complete it.
Do not spend too much time on one question.

If you can’t answer a question. Feel free to move on to the unanswered
one later.

You may change any answer at any time.
Calculator is NOT allowed.

You MUST return this question sheet with your answer sheet, or else it will not be
marked.



SECTION: INTELLIGENCE
Directions: Select your answer from the 5 options provided for each question
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1. Identify the missing number from the list of suggested answers
16 ? 32
40 48 56
A. 21
B. 22
C. 23
D. 24
E. 25

2) Which is the odd one out?

A. Felt

B. Raffia
C.
D
E

Velvet

. Chiffon
. Oceania

3) Find the missing number from the list of suggested answers
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4) Find the missing number from the list of suggested answers
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5) Find the odd one out
A. Rocking




B. Arm
C. Foot
D. High
E. Dining

6) Identify the missing number from the list of suggested answers

66 72 78

84 ? 96

A) 88
B) 89
C) 90
D) 91
E) 92

7) Identify the missing number from the list of suggested answers
354 |

175

k)
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A) 41
B) 42
C)43
D) 44
E) 45

8) Find the odd one out

A) India

B) Cyprus
C) Austria
D) Peru

E) Mauritius

9) Identify the missing number from the list of suggested answers




54 ? 72

81 90 99

A) 60
B) 61
C) 62
D) 63
E) 64
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0) Identify the missing number from the list of suggested answers

A) 12
B) 13
C) 14
D) 15
E) 16

11) Which is the odd one out?

A) Humpback
B) Baleen

C) Swing

D) Draw

E) Suspension




12) Identify the missing number from the list of suggested answers
95 73

8 3 ? 1

A)3
B) 4
C)5
D) 6
E)7

13) Identify the missing number from the list of suggested answers
4205 7213
636 7?

A)3

B) 4

C)5

D) 6

E)9

14) Identify the missing number from the list of suggested answers

? 63 70

77 84 91

15) Which is the odd one out?

A) Cambrian
B) Scandinavian
C) Jurassic
D) Carboniferous
E) Triassic
6) Identify the missing number from the list of suggested answers
36 4 7 49 ?

8 48 6

17) Find the odd one out?




A) Motown
B) Ragtime
C) World

D) Ensemble
E) Gospel

18) Which is the odd one out?

A) Binary
B) Neutron
C) Doppler
D) Dwarf
E) Pulsar

19) Which is the odd one out?

A) trust

B) Teamwork
C) Honesty
D) Ethics

E) Excellence

20) Which is the odd one out?

A) Christian
B) Baptismal
C) Family

D) Smith

E) Maiden

21) ABABABABABBABABABA
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B) o
C)m =
D)o o
E)m o
24)ABCABCABCABABCAB BC
A) A
B)B

C) C
D)A A

E)B B
F)C C
25)1515151515 151551515
(A)15 (B)4 (C)51 (D)1 (E)5
26. DO=[O O OX QO[O0 =
(A)=(B)o (C)u=(D)o(E)oo
27BCCABCCABCABCCABCCABC
(A)C (B)B (C)AB (D)A(E)BB(F)AC
28.76877687768776877¢638
(A)6 8 (B)6 (C)7 7 (D)7 (E) 5 (F)8
29. =xpgo=x=TQgoXxX=TQgR=TOO
(A)=(B)oco(C)u(D)u=(E)o
306163361633 6163361633 163316

(A)3 3 (B)6 (C)1 (D)3 (E) 1 6 (F)6 1

31. Find the picture that follows logically from one of the 5 options (a-e) provided
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. Which is the odd one out?

one

. Which one of these five is at least like the other four?
. Horse

. Kangaroo

. Cow

. Deer

. Door

. What is the Capital of Taraba?
. Lafia

. Minna

. Jalingo

. Damaturu




E. Gusau

36. Which of the following shapes fit into the puzzle

37. If the day before yesterday is two days after Monday then what day is it
today?

. Monday

. Tuesday

. Wednesday

. Thursday

. Friday

moow>»

. Which one of the following is NOT a fundamental human right?
. Right to life

. Right to dignity of human persons

. Right too fair hearing

. Right to vote

. Right to personal liberty
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. Which is the odd one out?
. Mars

. Jupiter

. Comet

. Earth

. Neptune

moow>>y

40. Rearrange the following letters to make a single word and then choose the
Category in which it belongs

LIPEPENPA

A. City

B. Animal

C. Fruit

D. Person

E. Vegetable

41. Fibre is a raw material in the production of
A. Tea
B. Tablets



C. Drugs
D. Carpets
E. Textiles

42. Five horses, two people, three dogs and seven chickens have a total of
legs

A. 48

B. 46

C.50

D. 52

E. 64

43. Which number does not belong ?

! a5 32 124

i 1 78 122
L 1685

S22 14 | 202 |

A. 4

B. 17

C.32

D. 52

E. 64

44. A regular category can be divided into 8 identical triangles by drawing how
many straight lines?
A.5
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45. Which of the following cubes is similar to the unfolded cube? |(Note the faces
of the cube are NOT transparent)
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A. Cube A



. Cube B
. Cube C
.Cube D
. Cube E
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46. Which is the capital of Kogi State?

. Lafia

. Dutse

. Jalingo

. Lokoja

. Gusasu

moow>

47. The seventh vowel appearing in this sentence is the letter

moom»
cCo—o o

48. Ice is to water as liquid is to:

Gas

Steam

. Temperature
. Solid

Water

moomp

49. Which is the odd one out?

- - -m -
A. a

B.b

C.c

D.d

E. None

50. Which number should come next in this series? 1, 3, 6, 10, 15,
A. 17
B. 18






